Overall survival Overall survival Overall survival Overall survival Overall survival Overall survival Overall survival

Overall survival

ACC F M
1.00
0.75
0504 == =-=-=-=-== immm
0251 p=0.19 ! I
0.00 1 - 1 .
0 25 5 7.5 10
Time (Years)
BLCA F M
1.00
0.75
0.50q = = = = =y
0.25 p=09-: s
0.00 14 —1 = .
0 25 5 7.5 10
Time (Years)
COAD F M
1.00
0.75
0504 - ----- 1
0221 p=0.95
0 25 5 75 10
Time (Years)
COAD_MSI F
1.00
0.75
050 = =-=-=-=--- N
0.25 p=022| -E
0.00 1, — : .
0 25 5 7.5 10
Time (Years)
COAD_MSS F
1.00
0.75
050 - =-=-=-=----
0251 p =0.58 )
0.00 1 - i . .
0 25 5 7.5 10
Time (Years)
ESCA F M
1.00
0.75
0.504 - - =%
0251 p =0.036
0o 2 4 6 8
Time (Years)
GBM F M
1.00
0.75
0.504 - -
0.25 h
ool P T 067
01234
Time (Years)
HNSC F M
1.00
0.75
0504 == =-=-=-=="= =
0251 p=0.45 !
0.00 1 - - . .
0 25 5 7.5 10

Time (Years)

Overall survival Overall survival Overall survival Overall survival Overall survival Overall survival Overall survival

Overall survival

KICH F
1.00
0.75
0.50
0251 p =1
0.00 1, . : : r
0 25 5 7.5 10
Time (Years)
KIRC F
1.00
0.75
0509 = =======-=-9 1= =
0.25 —_ 1 1
p — 1 1
0.00 14 . : : r
0 25 5 7.5 10
Time (Years)
KIRP F M
1.00
0.75
0.50
22*1 P =0.55
0 25 5 75 10
Time (Years)
LGG F M
1.00
0.75
050 == =-=-=--% -
025] p=053" !
0.00 1. - Lt , .
0 25 5 7.5 10
Time (Years)
LIHC F M
1.00
0.75
0504 === - - == -
0251 n=0.16 Ml
0.00 1 - r L .
0 25 5 7.5 10
Time (Years)
LUAD F
1.00
0.75
0509 = = = = = == === 1
0251 p=0.51 | I
0.00 14 —_— L .
0 25 5 7.5 10
Time (Years)
LUSC F
1.00
0.75
0504 == =-=----=
0.25 = i
025 p=0.93
0 25 5 75 10
Time (Years)
PCPG F
1.00
0.75
0.50
0251 p =0.59
0.00 1, . : : r
0 25 5 7.5 10

Time (Years)

Overall survival Overall survival Overall survival Overall survival Overall survival Overall survival

Overall survival

1.00
0.75
0.50
0.25
0.00

1.00
0.75
0.50
0.25
0.00

1.00
0.75
0.50
0.25
0.00

1.00
0.75
0.50
0.25
0.00

1.00
0.75
0.50
0.25
0.00

1.00
0.75
0.50
0.25
0.00

1.00
0.75
0.50
0.25
0.00

PAAD F M
p=0.71
o 2 4 6 8
Time (Years)
READ F M
p =0.59
0 25 5 75 10
Time (Years)
SARC F M
p=0.6 :
0 25 5 75 10
Time (Years)
SKCM F M
p = 0.041
0 25 5 75 10
Time (Years)
STAD F M
p=0.16
0 25 5 75 10
Time (Years)
THCA F M
p=0.018
0 25 5 75 10
Time (Years)
UVM F M
p=0.69
0 2 4 6 8

Time (Years)



